
Answers

The bananas and pears are doubles. The tomatoes are not.

4 + 4 = 8 
5 + 5 = 10 
6 + 6 = 12

7 + 7 = 14 would come next.

The calculation that matches the picture is 9 + 9 = 18.

The bananas are not doubled because 8 is not double 5. 
The cherries are doubled because 12 is double 6.

There are six possible doubles from rolling a pair of dice:  
1 + 1 = 2, 2 + 2 = 4, 3 + 3 = 6, 4 + 4 = 8, 5 + 5 = 10 and 6 + 6 = 12.

1 2 
2 4 
3 6 
4 8 
5 10

Children should spot that the answer increases by 2 each time. They 
could use this pattern to carry on finding doubles.

× 12 + 12

6 + 6

It is double 6.

× Double it to make 12.
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